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1. 90 birds were caught for a survey.

49 of the birds were female.

25 of the male birds were not already ringed.

33 of the birds were already ringed.

Use this information to complete the table below.

already ringed not already ringed Total
Female
Male
Total 90
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2. 120 customers were are asked about their employment status.

(Examples of employment status are working full or part time, retired, self employed etc.)

45 of the customers were working.
28 customers who were not working paid by direct debit.

55 of the customers did not pay by direct debit.

Use this information to complete the table below.

Pay by direct debit Don’t pay by direct debit Total

Working

Not Working

Total 120
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3. 86 people returned a survey.
49 people returned an on-line survey.

45 of the people who returned a survey are working.

26 of the people who returned a paper survey are not working.

Use this information to complete the table below.

working not working Total

Paper

On line

Total 86
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Answers
Q1:
ringed NOT ringed | Total
Female | 17 = B1 32 =011 49
Male | 16 = B1 25 41
Total 33 57 90
Q2:
direct debit | NO direct debit | Total
Working 37=B1 8 =Bl 45
Not Working 28 47 = B1 75
Total 65 5} 120
Q3:
working not working | Total
Paper 11 = B1 26 37
On line 34 = D1 15 = B1 49
Total 45 41 86

E®R0 frequencyTable (9) SRS Learning Limited



